TABLE 11-5 (6) FINANCIAL EVALUATION OF TRANSMISSION LINES AND SUBSTATION RENOVATION PROJECT

	Year	(Å.\$)	Cost Total [COST] (M.S)	Lncremental Annual Energy (GWh)	Increwental Salable Energy (GWh)	Unit Ln Energy Price (\$/kWh)	Incremental Energy Sales (M.S)	Revenue (Profit) (M.S)	Balance (M.S)
0	1994	3.375	3.375	0	0	0	0	0	(3.375)
	CYUL		072 ° 5	o (Ð,	0	0,1	(3.320)
	1996		3.913	0	0	0	¢	0	(3.913)
en	1997		3.670	0	0	0	•	•	(3.670)
4	1998		2.963	54.0	49.6	0 071	3.522	3.522	0.559
ŝ	1999		0.00	108.0	1 66	0.071	7,036	7 036	7.036
9	2000		0.000	108.0	99.1	0.071	7 036	7.036	7 036
7	2001		000-000	108.0	1,99,1	0.071	7 036	7 0 3 6	7 036
0	2002		0,000	108.0	99.1	0.071	7.036	7.036	7 0 16
6	2003		0.000	108.0	99.1	0.071	7.036	7-036	7 076
0	7006		0.000		60	0.077	7 016	7 076	7 0 7
) •• 1 ••		•		1.					
46									1 0.00
71	2005		0000	-	7.46	1/0 0	1.036	/ 0.16	1 036
13	2007	ť	0.000	-	99.1	0.071	7.036	7.036	7.036
14	2008	0.000	0.000	108.0	1.66	0.071	7.036	7 0.36	7.036
15	2009	00000	000.0		1.99	0.071	7.036	7.036	7.036
16	2010		0.000		1.99.1	0.071	7.036	7.036	7.036
17	2013	. 0	0.000		1.99	0.071	7.036	7.036	7.016
	0100	•	000 0		1 00		10.00	7 026	7 0 2 6
	2012				1 00				
n (1.46				000.1
22	4 T D Z		0000		1.99	1/0 0	0.0.1	1.036	7.036
17	CT07		0.00	•••	1.44	1 0 0	1.0.0	1.0.5	1.035
22			0.00		1.66	0.011	7.036	7.036	7.036
23	-		0.000		99.1	0 071	7.036	7.036	7.036
24	2018	0.000	0.000	108.0	1 66	0.071	7.036	7,036	7.036
. 25	2019	0.000	0.000	108 0	1.99.1	0.071	7.036	7.036	7.036
. 26	•••		0,000		99]	0.071	7.036	7 036	7 636
27			0.000		99.1	0.071	7 0 16	7 036	7 0.26
000	··.	•	0.000		1 00	0 071	7 076	7 0.6	7 036
	- 5- -	:			00	110 0	200 4		2000 0
	•						200 1		
2			0.000	•	7.66			000 · /	90 n - 1
31			000 0		1 66	1.0 0	7 036	7.035	7.036
32			0.000	-	1.66	0.071	7.035	7 036	7.036
ее С	2027	00000	0000.0	Ģ	1.99.1	0.071	7.036	7.036	7.036
34		0.000	0.000	108.0	1.99.1	0.071	7.036	7.036	7.036
35	2029	0.000	0.000	108.0	1 66	0.071	7.036	7.036	7.036
36		0.000	0.000	:	99.1	0.071	7.036	7.036	7.036
37.		 :	0.000		1.99.1	0.071	7.036	7.036	7.036
38	2032		0000	108.0	1.99.1	0.071	7.036	7.036	7.036
6 E	2033	0.000	0.000		1.99.1	0.071	7.036	7.036	7.036
40		. * 	0.000		1.99.1	0.071	7.036	7.036	7.036
17			0.000		1.66	0.071	7.036	7.036	7.036
42	2036		0.000		1.99.1	0.071	7.036	7.036	7.036

11 - 10





din.

reactive sets